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Question 2 

 
6 points (1 + 1 + 1 + 2 + 1) 
 
(a)  1 point: 

  One point is earned for identifying the market as an oligopoly because there is mutual 
interdependence—the behavior of each firm affects the other. 

 
(b)  1 point: 

  One point is earned for stating that an evening departure will be best for Airtouch. 
 
(c)  1 point: 

  One point is earned for stating that Winward’s dominant strategy is a morning 
departure. 

 
(d)  2 points: 

  One point is earned for stating that choosing an evening departure is not a dominant 
strategy for Airtouch. 

  One point is earned for correctly reasoning that Airtouch does not have a dominant 
strategy because its best payoff depends on Winward’s choice (OR, more specifically, if 
Windward chooses a morning departure, Airtouch is best off choosing a morning 
departure). 

 
(e)  1 point: 

  One point is earned for identifying $700. 
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Question 2 

 
Sample: 2A 
Score: 6 
 
The student earned all points in this question. 
 
Sample: 2B 
Score: 4 
 
The student lost 1 point in part (c) because the answer incorrectly states that Winward has no dominant 
strategy. The student lost 1 point in part (d) for failing to explain that the absence of a dominant strategy 
for Airtouch comes from the fact that Airtouch’s best choice depends on the choice made by Winward. 
 
Sample: 2C 
Score: 2 
 
The student earned 2 points in parts (a) and (b). Part (c) incorrectly states that Winward should “avoid . . .  
[a] morning departure.” Part (d) incorrectly states that evening departures are a dominant strategy for 
Airtouch. Part (e) incorrectly states that Winward’s daily profit will be $800 rather than $700. 
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